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DESIGN AND DATA ANALYSIS IN PSYCHOLOGY I.

PARTIAL 1, B
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Exercise 1 (6 points).
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a) Complete the table.
b) Calculate the percentile 80.
c) Calculate the decile 4.
d) Calculate the Pearson variation coefficient.
e) Represent the data in an appropriate graphic.

f) Calculate the Z score of a participant that obtained X = 36.

Exercise 2 (2 points). The scores of a group of participants is one
variable distributed normally, with a mean of 5 and a standard
deviation of 2. Knowing this information, calculate:

a) The percentage of people who obtained a raw score equal or
less than 7.
e
b) The two’scores that delimit the central 95% of the data.
ix
¢) The two'scores that delimit the most extreme 10% of the data.
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